Exhibit 17

James, Hoyer, Newcomer, & Smiljanich, P.A. 4830 W. Kennedy Blvd., Suite 550 Tampa, FL 33609 Tax I.D.# 59-3479025

Invoice submitted to:
NADEL APPEAL / BURTON W WIAND

November 10, 2015 In Reference To: 2419 Invoice # 10726

ASSET ANALYSIS & RECOVERY 5/1/15 - 10/31/15

| | | Hrs/Rate | Amount |
|---------------|---|-------------------|----------|
| 5/1/2015 JLB | Reviewing and compiling Appendix to Plaintiff-Appellant's brief. | 8.10 140.00/hr | 1,134.00 |
| 5/4/2015 SPK | Filing exhibits, correspondence with Ceci Bergan regarding including sealed exhibits in appendix | 1.40 315.00/hr | 441.00 |
| JLB | Final review and compilation of Appendix; draft letter to US Court of Appeals with Appendix; upload Appendix to US Court of Appeals. Review and file in our database, Notices of Appearance re Wells Fargo. | 3.10 140.00/hr | 434.00 |
| TAS | Review proposed appellate appendix. | 3.20 325.00/hr | 1,040.00 |
| TAS | Conference with Sean Keefe re: appellate appendix and comments by Ceci Berman. | 0.30 325,00/hr | 97.50 |
| 6/9/2015 SPK | Reading Bank's Answer brief (2.3)/ team meeting with Terry Smiljanich and Chris Casper to discuss same (.8)/reading Caterpillar v. Lewis SCOTUS case (.4) | 3.50 315.00/hr | 1,102.50 |
| 6/11/2015 SPK | Reviewing caselaw concerning curing jurisdictional defects, drafting reply brief | 4.20 315.00/hr | 1,323.00 |
| TAS | Research Rule 15 issues and cases and draft summary of research. | 5.70 325.00/hr | 1,852.50 |

NADEL APPEAL / BURTON W WIAND

Page 2

| | | Hrs/Rate | Amount |
|---------------|---|-------------------|----------|
| 6/12/2015 SPK | Conference call with Ceci Berman regarding reply brief | 1.10 315.00/hr | 346.50 |
| 6/14/2015 SPK | drafting reply brief, researching applicability of Caterpillar, Inc. v. Lewis | 3.20 315.00/hr | 1,008.00 |
| 6/15/2015 JLB | Review and save Appellee's Supplemental Appendix, Volumes I - VI. | 0.30 140.00/hr | 42.00 |
| SPK | Drafting reply brief, researching time-of-filing rule | 6.30 315.00/hr | 1,984.50 |
| TAS | Review and revise draft reply brief. | 2.50 325.00/hr | 812.50 |
| 6/16/2015 SPK | Drafting reply brief | 3.80 315.00/hr | 1,197.00 |
| 6/17/2015 SPK | Drafting reply brief | 6.50 315.00/hr | 2,047.50 |
| 6/18/2015 SPK | Phone call with Ceci Berman to discuss reply brief (.9)/ drafting same (4.8) | 5.70 315.00/hr | 1,795.50 |
| 6/19/2015 SPK | Researching Rule 15(c) response for reply brief, drafting duty argument for reply brief | 5.20 315.00/hr | 1,638.00 |
| TAS | Review and revise final draft of brief. | 1.20 325.00/hr | 390.00 |
| 6/22/2015 SPK | Drafting reply brief, reviewing Ceci Berman edits, incorporating same into brief, researching economic loss rule and negligence cases | 6.50 315.00/hr | 2,047.50 |
| 6/23/2015 SPK | Drafting reply brief | 4.30 315.00/hr | 1,354.50 |
| 6/24/2015 SPK | Drafting reply brief | 4.70 315.00/hr | 1,480.50 |
| 6/25/2015 SPK | Drafting reply brief | 3.50 315.00/hr | 1,102.50 |
| 6/26/2015 SPK | Finalizing draft reply brief, forwarding same to WGK | 0.40 315.00/hr | 126.00 |
| 6/29/2015 SPK | Drafting reply brief (5.2) | 5.20 315.00/hr | 1,638.00 |
| 6/30/2015 SPK | Phone call with Ceci Berman to discuss argument pertaining to section 1348. (.7)/ drafting reply brief (2.8) | 3.50 315.00/hr | 1,102.50 |

NADEL APPEAL / BURTON W WIAND

| Pad | e | .3 |
|-----|---|----|
| u | • | • |

| | | Hrs/Rate | Amount |
|---------------|--|-------------------|-------------|
| 6/30/2015 TAS | Review and revise draft responses to WF's objections to Magistrate's R&R on fees and costs. | 1.40 325.00/hr | 455.00 |
| 7/1/2015 SPK | Finalizing reply brief, incorporating edits | 7.50 315.00/hr | 2,362.50 |
| 7/2/2015 SPK | Filing appeal, drafting mediation brief | 3.80 315.00/hr | 1,197.00 |
| 7/9/2015 TAS | Review files and prepare for appellate mediation. | 0.80 325.00/hr | 260.00 |
| SPK | Mediation, meeting with Receiver in preparation thereof | 2.50 315.00/hr | 787.50 |
| 8/12/2015 SPK | Reviewing Amegy Bank v. Deutsche Bank case, preparing citation of supplemental authority in regards to same | 1.20 315.00/hr | 378.00 |
| 8/14/2015 JLB | Review and Print Appendix documents and cover sheets. | 3.90 140.00/hr | 546.00 |
| 8/17/2015 JLB | Complete preparation of Volumes of Appendix for 11th Circuit Court of Appeals; draft letter to Jenifer Tubs with Volumes of Appendix | 5.60 140.00/hr | 784.00 |
| 8/18/2015 JLB | Reviewed and scanned Return of Service documents re Subpoena to Wells Fargo. | 0.20 140.00/hr | 28.00 |
| 8/19/2015 SPK | Finalizing citation to supplemental authority | 0.40 315.00/hr | 126.00 |
| 8/31/2015 SPK | Reviewing Wells Fargo's response to Receiver's notice of supplemental authority | 0.10 315.00/hr | 31.50 |
| For pr | ofessional services rendered | 120.80 | \$34,493.00 |

| Name | Hours | Rate | Amount |
|----------------------|-------|--------|-------------|
| BROWN, JAN | 21.20 | | |
| KEEFE, SEAN P | | 140.00 | \$2,968.00 |
| | 84.50 | 315.00 | \$26,617.50 |
| SMILJANICH, TERRY A. | 15.10 | 325.00 | \$4,907.50 |